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Sentence Connector Quiz 27

Directions: You are required to match statements from columns 1 and 2 and find which of the
following pairs of statement make sense meaningfully and grammatically.

1.
Column (1) Column (2)
(A) Differential voting rights enable (D) ways, all of which involve social
promoters to retain engineering tactics to fool end-
users.
(B) According to security (E) irrespective of the
researchers, this vulnerability thunderstorms.
could be exploited in three
(C) He's young and beautiful (F) control over company even after
many new investors come in.
A. Only B-D B. Only A-F
C. Only A-F, B-D D. A-F, B-D, C-E
E. None of these
2.
Column (1) Column (2)
(A) This surreal experience, of (D) agreeing to the proposal.

walking along rows of

(B) Generally the trend has been to (E) tea bushes teeming with
have a design that does not butterflies, is out of the world.
(C) Thatisn't how it happened (F) have any mechanical elements in

a smartphone to make them
more durable.

A. Only A-E B. Only B-F
C. Only B-F, C-D D. Only A-E, B-F

E. None of these




Column (1)

(A) Itis a multilateral lending agency

(B)

(€)

(A)

(B)

(€)

The read-aloud feature is
particularly useful when users
are

Sarah was great tonight

.Only C-E
.Only B-D, C-E

. None of these

Column (1)

As part of their role in the
economic growth, the RBI
directed all the commercial

To demonstrate the severity of
the vulnerability, Check Point
even created a

My father asked me if | got

.Only C-D
. Only B-F

. None of these

Column (2)

(D) driving, cooking or otherwise
have their hands full.

(E) never complain or condemn.

(F) and regional development bank.

B. Only A-F

D. Only A-F, B-D

Column (2)

(D) along well with the Jones family.

(E) banks to provide some
percentage of their adjusted net
credit as loans to priority sectors.

(F) tool that allows it to decrypt
WhatsApp communication and
spoof the messages

B. A-E, C-D, B-F

D. Only A-E, C-D




Column (1) Column (2)

(A) The guidelines seek to curb sale (D) data, tall claims by brands fall
of counterfeit flat.

(B) In the absence of robust clinical (E) it was burnt to ashes.

(C) She likes to read everything (F) products online and unfair trade

practices by e-commerce

companies.
A. Only A-F, B-D B. Only B-D
C.Only A-F, C-E D. Only B-D, C-E
E. None of these
Column (1) Column (2)
(A) This decision by NHB to infuse (D) so many times we fail.
additional capital into Housing
Finance Companies
(B) An environmental breach due to (E) would enable companies to
company provide individual loans for

affordable housing.

(C) She is expecting a baby in (F) policy should result in loss of
bonus.
A. Only B-F B. Only A-E
C. Only B-F, A-E D. Only B-F, A-E, C-D

E. None of these




(A)

(B)

(€)

(A)

(B)

(€)

Column (1)

Supply of these strategic
minerals should be secured
through strategic acquisition

Bamboo stands out in the woods

It was done to comply with an
existing legal

.Only A-F
. Only B-E, C-D

. None of these

Column (1)

Earlier individual customs
formations had been

A parallel effort by the Reserve
Bank of India to link

Rita is proud of her boys

. Only B-F
.Only A-E, C-D

. None of these

(D)

(E)

(F)

(D)

(E)

(F)

Column (2)

limit on punitive damages for
such matters.

particularly well-articulated
verse.

of overseas mines by forming
diplomatic ties and trade
agreements to avoid supply
disruptions.

B. Only B-E

D. Only A-F, C-D

Column (2)

Insignificant to the core.

independently conducting Time
Release Studies at port level.

loan rates to its policy
benchmark is a laudable move.

B. Only A-E

D. Only B-F, A-E




10.

(A)

(B)

(€)

(A)

(B)

(€)

Column (1)

Samarth initiative will support
artisans, weavers and handicraft
makers by

Economists define a recession as
three

She read the Quran in all

.Only C-E
. Only B-D

. None of these

Column (1)

End-use stipulations for ECBs for
both corporates as well

Analysts have also expressed
concerns over the durability of
the devices since folds are

typically

What he is hiding under the

.Only C-D
. Only A-E, B-F

. None of these
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(D)

(E)

(F)

(D)

(E)

(F)

Column (2)
consecutive quarters of
contraction.

the languages she knows.

on-boarding them and helping
them in process of selling on
internet.

B. A-F, B-D, C-E

D. Only A-F, C-E

Column (2)

has not rained for weeks in a
row.

as liquidity starved non-banking
lenders have been liberalised.

areas where problems are most
likely to develop in electronic
devices over time.

B. Only B-F

D. Only A-E, C-D

1’



https://t.me/smartkeedaofficial

Correct answers:

Explanations:

1. Checking C-D:
He's young and beautiful irrespective of the thunderstormes.
The sentence is contextually incorrect. The pair C-D is hence invalid.
Checking A-F:

Differential voting rights enable promoters to retain control over company even after
many new investors come in.

The above sentence is correct both grammatically and contextually.
Checking B-E:

According to security researchers, this vulnerability could be exploited in three ways, all
of which involve social engineering tactics to fool end-users.

The above sentence too is correct both grammatically and contextually.

Option Cis hence the correct answer.

2. Checking C-D:
He's young and beautiful irrespective of the thunderstorms.
The sentence is contextually incorrect. The pair C-D is hence invalid.
Checking A-F:

Differential voting rights enable promoters to retain control over company even after
many new investors come in.

The above sentence is correct both grammatically and contextually.

Checking B-E:




According to security researchers, this vulnerability could be exploited in three ways, all
of which involve social engineering tactics to fool end-users.

The above sentence too is correct both grammatically and contextually.

Option Cis hence the correct answer.

Checking C-E:

Sarah was great tonight never complain or condemn.

The sentence doesn't make any sense contextually. The pair C-E is hence invalid.
Checking A-F:

It is a multilateral lending agency and regional development bank.

The above sentence is correct both grammatically and contextually.

Checking B-D:

The read-aloud feature is particularly useful when users are driving, cooking or
otherwise have their hands full.

The above sentence is also correct both grammatically and contextually.

Option D is hence the correct answer.

Checking A-E:

As part of their role in the economic growth, the RBI directed all the commercial banks
to provide some percentage of their adjusted net credit as loans to priority sectors.

The above sentence is correct both grammatically and contextually.
Checking C-D:

My father asked me if | got along well with the Jones family.

The above sentence is correct both grammatically and contextually as well.
Checking B-F:

To demonstrate the severity of the vulnerability, Check Point even created a tool that
allows it to decrypt WhatsApp communication and spoof the messages.




The above sentence too is correct both grammatically and contextually.

Option B is hence the correct answer.

Checking A-F:

The guidelines seek to curb sale of counterfeit products online and unfair trade practices
by e-commerce companies.

The above sentence is correct both grammatically and contextually.

Checking B-D:

In the absence of robust clinical data, tall claims by brands fall flat.

The above sentence is also correct both grammatically and contextually
Checking C-E:

She likes to read everything it was burnt to ashes.

The sentence doesn't make any sense contextually. The pair C-E is hence invalid.

Option A is hence the correct answer.

Checking B-F:

An environmental breach due to company policy should result in loss of bonus.
The above sentence is correct both grammatically and contextually.

Checking A-E:

This decision by NHB to infuse additional capital into Housing Finance Companies would
enable companies to provide individual loans for affordable housing.

The above sentence is correct both grammatically and contextually.

Checking C-D:

She is expecting a baby in so many times we fail.

The sentence doesn't make any sense contextually. The pair C-D is hence invalid.

Option Cis hence the correct answer.




Checking A-F:

Supply of these strategic minerals should be secured through strategic acquisition of
overseas mines by forming diplomatic ties and trade agreements to avoid supply
disruptions.

The above sentence is correct both grammatically and contextually.

Checking B-E:

Bamboo stands out in the woods particularly well-articulated verse.

The above sentence is also correct both grammatically and contextually.

Checking C-D:

It was done to comply with an existing legal limit on punitive damages for such matters.
The sentence doesn't make any sense contextually. The pair C-D is hence invalid.

Option D is hence the correct answer.

Checking B-F:

A parallel effort by the Reserve Bank of India to link loan rates to its policy benchmark is
a laudable move.

The above sentence is correct both grammatically and contextually.
Checking A-E:

Earlier individual customs formations had been independently conducting Time Release
Studies at port level.

The above sentence is correct both grammatically and contextually.

Checking C-D:

Rita is proud of her boys insignificant to the core.

The sentence doesn't make any sense contextually. The pair C-D is hence invalid.

Option D is hence the correct answer.




10.

Checking A-F:

Samarth initiative will support artisans, weavers and handicraft makers by on-boarding
them and helping them in process of selling on internet.

The above sentence is correct both grammatically and contextually.
Checking B-D:

Economists define a recession as three consecutive quarters of contraction.
The above sentence is correct both grammatically and contextually as well.
Checking C-E:

She read the Quran in all the languages she knows.

The above sentence too is correct both grammatically and contextually.
Option B is hence the correct answer.

Checking C-D:

What he is hiding under the has not rained for weeks in a row.

The sentence doesn't make any sense contextually. The pair C-D is hence invalid.
Checking B-F:

Analysts have also expressed concerns over the durability of the devices since folds are
typically areas where problems are most likely to develop in electronic devices over
time.

The above sentence is correct both grammatically and contextually.
Checking A-E:

End-use stipulations for ECBs for both corporates as well as liquidity starved non-
banking lenders have been liberalised.

The above sentence is also correct both grammatically and contextually.

Option Cis hence the correct answer.
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